[ Efficiency vs vertpos |

—_

e
(]
>

[
>
>

[S]
c
[}

ettic

Ratio

Efficiend

Ratio

efticiency vs vert z

0.5

0.45
0.4
0.35]
0.3
0.25
0.2
0.15
0.1
0.05

...............................

...............................

1.0

= -

e - - -

—t

0.950

==

1072

TAautS
fau ts
auft—s
;au t
au

@D D

t—s

(]

%

spress)
cPLess3
ecPLess4

0.8

0.7

0.6

0.5

0.4

0.3

0.2

0.1

Vs

[y

0.95!

N

PV

efticiency vs Sim.

0.5

10 20 30
TP vert z (cm)

o
S
]

I R

0.95, L

0-8 6 -4 20 2 4 6 8 10

Sim. PV z (cm)




	Contents
	Page 1


